


Solve for x.
x के लिए हि करिये।
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One angle of a pentagon is 140°. If the remaining angles are in the ratio 1 : 2 : 
3 : 4, the size of the greatest angle is:
एक पंचभुज का एक कोण 140° का होता है। यदि शषे कोण 1:2:3:4 के अनुपात में हैं, तो 
सबसे बड ेकोण का मान है:
a. 150° a. 180° b. 160° c. 170°



In the given figure what is the value of ∠1 + ∠ 2 + ∠ 3 + ∠ 4 + ∠ 5?
िी गई आकृतत में ∠1 + ∠ 2 + ∠ 3 + ∠ 4 + ∠ 5 का मान क्या है?
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In the given figure what is the value of ∠1 + ∠ 2 + ∠ 3 + ∠ 4 + ∠ 5 + ∠ 6 + ∠ 7 + ∠ 8 
+ ∠ 9 + ∠ 10?
िी गई आकृतत में ∠1 + ∠ 2 + ∠ 3 + ∠ 4 + ∠ 5 + ∠ 6 + ∠ 7 + ∠ 8 + ∠ 9 + ∠ 10 का मान क्या 
है?
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Among the angles 𝟑𝟎𝟎, 𝟑𝟔𝟎, 𝟒𝟓𝟎, 𝟓𝟎𝟎; one angle cannot be the exterior angle 
of a regular polygon. The angle is: 
𝟑𝟎𝟎, 𝟑𝟔𝟎, 𝟒𝟓𝟎, 𝟓𝟎𝟎 कोणों में से कोई एक कोण समबहुभुज का वाह्य कोण नही हो सकता. 
वह कोण है:
1. 𝟑𝟎𝟎 2. 𝟑𝟔𝟎 3. 𝟒𝟓𝟎 4. 𝟓𝟎𝟎



Measure of each interior angle of a regular polygon can never be (in 
degree):
एक समबहुभुज के प्रत्येक अंत: कोण का परिमाण कभी नहीं हो सकता (अंश में):
1. 𝟏𝟓𝟎𝟎 2. 𝟏𝟎𝟓𝟎 3. 𝟏𝟎𝟖𝟎 4. 𝟏𝟒𝟒𝟎



Each interior angle of a regular polygon is 𝟏𝟒𝟒𝟎. Find the number of the sides 
of the polygon.
एक समबहुभुज प्रत्येक अंत: कोण 𝟏𝟒𝟒𝟎 है. बहुभुज के भुजाओं की संख्या ज्ञात कीजजये।



The sum of the interior angles of a regular polygon be 𝟏𝟎𝟖𝟎𝟎 degree. Find the 
number of the sides of the polygon.
एक समबहुभुज के अंत: कोणों का योग 𝟏𝟎𝟖𝟎𝟎 है. बहुभुज के भुजाओं की संख्या ज्ञात 
कीजजये।



Each interior angle of a regular polygon is three times its exterior angle. Find 
the number of the sides of the polygon.
एक समबहुभुज का प्रत्येक अंत: कोण वाह्य कोण का तीन गुना है. बहुभुज के भुजाओं की 
संख्या ज्ञात कीजजये।



The difference between the exterior angle and the interior angle at a vertex of 
a regular polygon is 𝟏𝟓𝟎𝟎 degree. Find the number of the sides of the polygon.
एक समबहुभुज के ककसी एक शीषष के वाह्य औि अंत: कोण का अंति 𝟏𝟓𝟎𝟎 अंश है.बहुभुज 
के भुजाओं की संख्या ज्ञात कीजजये।



If the ratio of an external angle and an internal angle of a regular polygon is 
1:17; then find the number of the sides of the regular polygon.
यदि एक समबहुभुज के वाह्य कोण औि अंत: कोण का अनुपात 1:17 है; तो समबहुभुज के 
भुजाओं की संख्या ज्ञात कीजजये।



The number of the sides of two regular polygons are in the ratio 5:4 and the 
difference between each interior angle of the polygon is 𝟔𝟎 degree. Find the 
number of the sides of the two polygon respectively.
िो समबहुभुज के भुजाओं की संख्या का अनुपात 5:4 है औि उनके प्रत्येक अंत: कोणों का 
अंति 𝟔𝟎 अंश है. िोनों बहुभुज के भुजाओं की संख्या क्रमश: ज्ञात कीजजये।



Ratio of the number of the sides of two regular polygons is 5:6 and the ratio of 
each of their of their interior angles is 24:25. Find the number of the sides of 
these two polygons. 
िो समबहुभुज के भुजाओं की संख्या का अनुपात 5:6 है औि उनके प्रत्येक अंत: कोणों का 
अनुपात 24:25 है. इन िोनों बहुभुजों के भुजाओं की संख्या ज्ञात कीजजये।




